
Structura, Inc. | 9635 Widmer Rd., Lenexa, KS 66215 | 913.390.8787 | www.structura.com 

Figure C

Zora
Installation Instructions

Warnings

CAUTION—risk of fire and this product must be installed 
in accordance with the applicable installation code by a 
person familiar with the construction and operation of the 
product and the hazards involved.

Suitable for wet locations.

Mounting orientation must have light source facing down.

Electrical service must be disconnected during installation.

Proper grounding is required to protect against shock and 

proper operation.

Tools Required

T30 Security Bit
3/8” Socket Wrench

Wiring tools and connectors

Bollard Installation

Step 1: Remove 1/4-20 machine screws from bottom of 
bollard and remove the mounting plate as seen in Figure A.

Step 2: Place mounting plate on anchor bolts and place 
3/8” washer down and tighten 3/8” hex nut as seen in 
Figure B.

Step 3: Secure bollard on to mounting plate with the 1/4-20 
machine screws used in figure A
 
Step 4: Connect wires from the solar battery to the fixture 
module.

Step 5: Secure 1/4-20 machine screws through the bollard 
and into the fixture module as seen in Figure D.

Figure A

Bottom of Bollard

Mounting Plate

Figure B

Mounting Plate

3/8” Nut and 
Washer

Fixture Module

Solar Battery

Concrete Footing

Leveling Nut

Figure D


